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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

41- Cheetahs are endangered animals. Only ... of these animals have remained today.

1) few 2) little 3) afew 4) a little
42- How many ... do you want to eat for breakfast?
1) bread 2) piece of bread 3) loaf of bread 4) loaves of bread
43- A recent research shows that the deadly Coronavirus may ... before the development of a vaccine.
1) defend 2) disappear 3) surprise 4) protect
44- This product is a safe and excellent natural protective that its economic ... is higher than the other
ones.
1) belief 2) price 3) region 4) value

For breakfast, English people often, have milk and sugar. They don’t eat ...(45)... . They enjoy drinking
strong tea with milk. At one o’clock, English people have lunch. Five o’clock tea is a national habit.
English people have tea with biscuits, apple pie, fruit or fruit salad or sandwiches. At about seven or
eight o’clock, they have dinner. It can be soup, sometimes ...(46)... and vegetables, macaroni (pasta)
and cheese. The English people drink ...(47)... coffee. Tea is their favorite drink.

45- 1) manv breads 2) much bread 3) a few breads 4) a bread
46- 1) meat 2) sugar 3) watermelon 4) juice
47- 1) only a few 2) little 3) few 4) only little
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Have you ever heard someone uses the phrase “once in a blue moon?” People use this expression to
describe something that they do not do very often. For example, someone may say that they try to avoid
eating sweets because they are unhealthy, but they eat chocolate once in a blue moon; or a person who
does not usually like to go to the beach may say: “I visit the shore once in a blue moon.” While many
people use this phrase, not everyone knows the meaning behind it.

The first thing to know is that the moon itself is never actually blue. This is just an expression. The
phrase “blue moon” actually has to do with the shape of the moon, not the color.

As the moon travels around the earth, it appears to change shape. We associate certain names with
certain shapes of the moon. For example, when we can see a small part of the moon, it is called a
crescent moon. A crescent is a shape that looks like the tip of a fingernail. When we cannot see the moon
at all, it is called a new moon. When we can see the entire moon, it is called a full moon. Usually, there is
only one full moon every month. However, sometimes there will be two full moons in one month. When
this happens, the second full moon is called a blue moon.

Over the next 20 years, there will be only fifteen blue moons. As you can see, a blue moon is a very rare
event. This fact has led people to use the expression “once in a blue moon” to describe other very rare
events in their lives.

48- Based on the information in the passage, in which of the following sentences is the expression
“once in a blue moon” used CORRECTLY?
1) Her best student frequently asks questions once in a blue moon.
2) My sister lives in Alaska, so I only see her once in a blue moon.
3) Accidents regularly occur on this bend once in a blue moon.
4) The customer is always complaining once in a blue moon.

49- Which of the following sentences is TRUE based on the passage?
1) A blue moon is an expression that is rarely used in English.
2) A blue moon happens when the sky is blue.
3) A reappearance of a full moon in one month is called a blue moon.
4) A crescent moon is bigger than a blue moon.

50-The writer uses the sentence: “As you can see, a blue moon is a very rare event.” because she
wants to ... .
1) challenge a sentence that she has already made
2) answer a question that she has asked before
3) give an example of a point that she has made earlier in the passage
4) support a conclusion that she is going to make

PART D: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

51- She took ... books with her while going on holiday, but she read only ... of them during her stay.
1) no —a few 2) many —a little 3) any — some 4) alot of —a few

52-1In the first ... months of life, an infant learns how to lift its head, how to smile, and how to
recognize its parents.

1) many 2) alot 3) few 4) alot of
53- First of all, tourists should know to respect the ... values of the countries they are visiting.
1) strong 2) careful 3) cultural 4) endangered

54-1t is still a question for me to know how scientists ... the height of a mountain.
1) measure 2) describe 3) save 4) locate

PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

New words are born whenever they are needed. New words are being invented all the time. Some new
words became ...(55)... of a language just as “hello” does. That word was kept because it was so
.++(56)... . Other new words that aren’t so useful, may be forgotten soon. The world is changing all the
time, so are words. In fact, every word has a ...(57)... of story behind it, just as hello does. Each word is
a puzzle.

55- 1) part 2) type 3) history 4) stress
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56- 1) harmful 2) important 3) wonderful 4) painful
57- 1) cycle 2) pair 3) site 4) kind
PART F: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

The fact that a good teacher has the capacity of a good actor does not mean that he will actually be able
to act well on the stage; for there are very important differences between the teacher’s work and the
actor’s. The actor has to repeat exactly the same words each time he plays a certain part. What he has to
do is to make all the carefully learned words and actions seem natural on the stage.

A good teacher works differently. His listeners take an active part in his play; they ask and answer
questions, and obey orders.

The teacher, therefore, has to make his act suitable to the needs of his students. He cannot learn his
part by heart like that of an actor. He must invent it as he / she goes on.

58- When an actor is on the stage, he/she should ... .

1) be able to act like a teacher 2) consider the needs of his listeners
3) invent something as he goes on 4) perform what is in the play
59- The teacher’s listeners ... .
1) always understand him well 2) are active in his play
3) help the teacher to play a role 4) make no response in the class

60- The underlined word “capacity” in the first line is closest in meaning to ... .
1) ability 2) experience 3) function 4) role

Sl plas o ,ylg0n \/xY — VXY +\/\°x\' + X+ o le fol> il Tu —¥YX+Y <o 51 -5

YXE (¥ XV (Y =X (Y Yx—\ Q
Sl oS ¥ X =Y [+ | X =V | = F Vol slraiu) ggome -FY
A4 Y
=F (P — iy == Y fO
Y Y
?c;ﬁ..:lﬁl..\.fo,l,m|X+T’|+|X—Y|J.al:olfoi‘.\..§l“l,§ﬁ|X\~—\|<XY+X+\ZJ.>LuU,§l Al
—Yx A -0 (v b6 & W 6O
Sl A (i abiio o2 p Y=Y o Y= | XY | = | X+ || &lgs slog0i T 10 a5 bl plod Job degamo -5
R—(—\,Y) (¢ =rsy] ¢ (oo, =] (¥ [Y,+0) O

falb wilgh oo plos Judatwss buzmo (ab ¥ 5 Jdaine ol 51 -0
70
vy
o (Y
q(f

Pl X+YY —F =0 s L5 clio oyl yiglawg dlold .aicmd agllleild dio Sy woiy (Y 5 —1) 9 (=Y 5 1) (=), ¥) ik as 56

Q. '

vTo (f o NI % 0

plas’ AC ales 3l Hlw Uolao .aicuwds ABC i gMs! ¥ olae X joe g BC 1Yy +X=Ve (AB:y=¥X ks 40 -5V

¢ !
Y Y
y=—-(xX+0) (¥ y=—(x+08) 0
i \
Y Y
=—(x—0) (f =——(x—0) (*
y f( ) y f( )

forum.konkur.in



www.konkur.in

Sl plas Y jaxo g E(X) =X —V|—| X[ F(X) =YX =) 2b 90 sl o905 4 Sguo &b o luno -FA

\ \ \
= (¥ — (¥ — (¥ K¢}
F Y Y
ol A0S 03l oo pauw axml 13 (1370 90 ,8) Slaise b yemo b F(X) = || X =¥ | =¥ | =V Jlogei a5 sioluw -$4
A \
Y (F — (Y — (¥ 1 ()
Y Y
?w'wugrl‘s;mﬂﬁM@)sﬁc@Mbb)L@g}b)l y=Y|YX—a|+b)|.>9.u' =Y.
b’ —fa’)>. (v b(b" —fa¥)<. (1
ab>- (f ab <. (¥

Sl pIAS A Sgus Al B 1 ieS Wl oty Y=F 9 Y=Y bohs L Y =aX bs ablis 5145 aso,l Job 51 -V

¥ ¥ ¥ ¥
——<a<— (¥ ——<a<— ()
¥ ¥ Y
¥ Y i ¥
a<——La>— (f a<—-—ua>— (v
¥ ¥ b Y

Yx
Sl plas O+ VP Jol> ool [X— 0| > P wygo & |—\—v|<v Yoleol Olg> acgoxo -VY
x_

b (f Ty v £\
N Adai Lol .l aslg AB=Y\/\TOIJ)}Q}ESJ9L5¢)L>)')§y=X+\.‘a>"$3) Awi)‘ﬁ_ijéMY!‘sjlgﬁn)a vy

Sl plas Slaisis fase 31 £MSYI63lgk0 (s pad

yAA \/ﬁ QO
¥4
= B
/ B " X
/ SR x NN
VOA
—
f
TR IE LT, G o R —d " .
fewl plas” Y(F—X' )" —Y[X' —F|+V=¢ Mol glaais, sluss -YF
Y (f Ay ¥ (Y )1 Ay ()
fowl plos AB als Slw i g AH gl )l s oo 4ol .C(Y , —¥F) s B(=V,°) (A(V, 8) o, LABC cdic o -0
f 3 Vra VY4
—-— (F —— (¥ — (¥ — {3
AR VY4 f Y
ailgi oo plas B ol ) colasisee il Y+ ¥ =YX 2o p0 ol S5 Aolro 51 s oo abs S AB g ol O A(—Y, ) &ais -Y§
Saly
(c,Y) (¥ (¥Y,Y) (xr () (Y v,y

coe &5 S lgi 0 ABC o 550 50 waidiloo ABC edio oy 4w C(Y, —¥) 9 B(F, ). AQ), 0) blis -vY
bl 0d 4 gl IS cannl (yuBladl g gluio ()
el EMSY 5 glucio (Y
]yl (5 gluancio &5 931056 (Y
a3 ldl (ggluiio (Jg ol &y 9l 5 (F

AT
?s‘.’.unl‘oldf ac.::r..a)'d.‘é.o .J..:)Lg gaxlé&om;l.mt u.al.n.n O(a,’f) )5).94.! szl.))._v T'X+Y'y=0 s YA

Y (F =T V(Y o (1

forum.konkur.in



www.konkur.in

Sy 030l Sy 4 B(V, ¥) 9 A(Y , — 1) dlaii 90 b blalold a5 0,10 3929 Y= X' — X sadaw (595 daii iz —V4

sl o (F Y V(Y o ()
. T—X ’
?o,la@_,;&_hﬁsl f|=kdom‘kﬁ_a&nuwplﬁ‘sljlq -A.
x_
—\ZKk<o (F k<—\ (¥ —<k<\ (¥ k>\ (

= polie 3 S5 plas o T i, 00" =¥X—Y g ablize C'(O',¥) g C(O,8) 5,00 95 51 -AY
ol Joud G X 5l
4 \ A Y
= [ = i = ¥ ek
Y \ \ Y
el p1aS BT 2 ) S yideo olon Job il S it olon ¥ slyls C'(O', ¥) g C(O, ¥) 510 g0 51 -AY
PY 8 Wy v Wr o

sl asly A by o35 alllas Job g asly V1O o v iy a gl 30 g i Syt wlee Job a5 7 Lo 5o g0 —AY

foawl JSKoaS oo glals plpois J5,)popl slad il o0
4 o f Y
& 9 — =« =0
I ¥ ¥ Y
Sz eS 010 3550 U M alols 510085 0335w pd U M akil 0 F o ¥ slaglad 4 abliio § 915 93 F ypiio sl wlow Slocel -AF

Tl plos 0 910 90 I pidio wlow Jobo (bl & ol

¥ o
= (f — = (Y YQ
Y Y
foawl pluS X jluie .cawl wlow o pls w MN g AB = AC p; U3 50 -AD
E
SN Y—J¥ 0
f A
C
M< B
TRk r—Jr
N
Wy v ¢
Sl plas’ g1 Job & gomxe ol T b Y iy Pl s pld glads Job STAF Coluw & Juoo ahowia S )0 -AF
YA (F ¥ o7 (¥ YA QO

s Eg Cblis ol g5, popb D ilais ;o 5iSaas 510 00 paw y whow 551 .05105950 (wloo B &aii jo 0 1o 90 ) S j0 -AY
(DE=A3 AC=¥) fcusl plas CD Jgb ol8 )] S alad A dlaii jo 1y B alaiis 10 ooy gy olow

Y

Yo

¥

o (f

forum.konkur.in



www.konkur.in

S M aas Aol wLAC=CB ;1.BAC=VA', MA = AB =% &5 5)9ba tcanl o puoy MAB 2blE 55010 50 -AA

! joad 0w 1o 35 w0
B
A Y @

\Y (Y

AVY

VP O(F

C
o 3= @o9es (018 90 (215 F o olae) TT' aso )y bawwg 51 51 .sicad 7515 wlow Cy(Oy ,11) 5 Cy (04, 8) 505 95 -A%
VVed (y
NARNAR(S

Y4y

VoY (F
‘S)Q_JJJJJ)E.BJ,EW\.&D T o,g_'a]a._...ang AM=Q;‘.¢M‘MLM ‘5)91 &)‘eél,g Qg P.NM bWJOQﬁ‘bx_jJ&&)a -S.

flawl plas’

N

Q \M
(o) e
P N A\/E Y
c s\Ne (¢

VY
Pa_laﬁ)'le.&..ﬁp.u) U.al.n.oJ,bwl).m‘:uLu 7(;,_..1.:}5,»1: Pa.l..alss).m‘:ul.uﬂ ).3').3 Pi.h.ﬁ.i)'l‘slaﬁla&hﬁ.iw,‘i”a alols -4\

flawl plas 0wl cpl

NN N 5 (Y Wy

Famwl P15 010 bxo g (pwilow 99 (p Zebaw ol 00l w3 ¥ Eladh &) Glo w1 g o 9 050 (wlow 90 P alaiti jI -4Y

T B
Y—; (¥ \‘—; (¥ YU—¥ (Y f—-m (

plas CD g Job oS (o0 il (G9luns Coound g0 3 1) CD' 55 9 % o 431y AB k5 M il YVP glad a0l gy -4
¢ el
o o Y N
B g A il g0 45 slo yuld sl o pwlowo (g0 5310 p D aaili jo PD glads .ol CC' Hhad a5 sloplopws 35,0 P dlais -4 F
fog o whoo A L p alaii plas ;0 wawl A bas p wlow 99,35
cCLCa

C’,CMSOM(Y

C'C Loyl z,5 (¥

oo (F

forum.konkur.in



www.konkur.in

iy il r1s 98, goaliShanst gl Vi, a8 sl ol 01 il g A, oes'h 3558 S YO olaaly Syt <48

flwwl digis o2
099 u»l.o.o ¥ élou.m 4]
09X u»hm (f J’lM (‘u

andad (| Jgbo oS (o0 ey S35 8000 3 qulow S g8 5 ls 35 50 5lilygp wlae amlg Vo /D 9 F slaglad 4y opls g0 47
Sl plaS polow
o (v A
Vo (F 5 (v

S 2 o pld S 0,5 )y (yled o0 F S P ol 50 T'\/; Jeb @ J9 e adiud 490 wlw g b gV sbaglad o plo g0 -1Y

fasbl wlowo
Y (¥ 1 (
¥ (F Y

\
Al o0 ;00' 2y 00 Lwg jlopls g0 S bl 51 S Aold walg F o ¥ sbaglead g O 5 O 35150 4 abliio 510 95 0 -3A

foawl aolyg a0 w10 90 (! S o wlow 831001

Wb (v F O

b (F AN
oo Job awl Vo plp ol 98 i3S plllas Job 918 ply C'(O',R’) 9 C(O,R) gz, ko 50 90 blis oy Aol oy 5 s -99
Sl plas 0 p 1o g0 pl Ao S pido
g (Y £ O
Ve (F A (Y
ol oyl ABCD (ool oz -y oo comoay alais S bais ABCD ol 1515 &gl o sl jlaness 3585 3 51 =1«
sl (¥ STAL
bl (F Julao (Y
Sl 5 bulg, 51 S5 plaS Jole « VX 5 XEB =D X2 A» 59w 8,155 il acgomo g0 B g A 51 -1
A'cB (f AcB (v A'cB (¥ AcB o
fewlplas a+ b+ Job> b plp B={a+V, (b-Y}, {Vv,Y}}s A={{a},{b+V,c—Y}, 0} degomo g0 ,§1 -\ .Y
10 (F V¥ (Y WY QO
Tl AL jqui> sguae 90 sWacgomoy § )0 laild A &5 (g gb & Cudigi lgi 0 A={a, b, €, d} degoomo 51 51,8 iy -1 0¥
% (f o (v (Y YO
Sl o yd 6, lg0m 4y 35 plas il (A'UB')Y c(B—A') $1-1.¢
A-B=J (v A-B=A (
ANB=B (f AUB=U r

forum.konkur.in



www.konkur.in

slaas! Slasi (p j sBacgomo I S plus o T C={a,V0, .., Yo} s B={0,7,..,00} cA={1,Y, .., V0} 51 -1 00

€0,10 (5 pdns
(AUB)-C (v A-(BUC) o
(A-B)U(C-B) ¢ (ANB)-C v

il 0EB g VEA a5 glaigf 40,5 51,3 By Adegormogoa plgion ybaszaly X={0,),Y,¥,F, 08} degomo -1¥
V¥ (F W (¥ AY 50

fewl sobue A={X|YXEN, ¥X <o} degomo b ) slracgomo I S plas -\ .Y

X
B\.={;|xeN,Y‘X<A} s B,={x|xeN, ¥x<a} 0

Be={x|xeN, Yx<ve} (f Bv={$|xeN,Y‘x<To} (¥

Sl plaS ply oylgen (A —B)U[(ANC)—B]w)le Jol> wiidl olgids dcgomo aw C g B (A $1 -1 A

AUB B’ (v A-B v A
el plas [(CNBYU(D = A)NHA-CHNBUD)] fols ol T st AUBSCND 81 -1-9
(¥ AUB ANB CND o

30 Wl plp A&Ms,ﬁ:A,s,«ﬁ:"‘sbuwﬁj Slasi ST .Cawl 29 yoo A={\,Y 5 gvan ,Il}‘syfa.: N dcgoxo -\ \ -
Sl F 5l g1 o guise (0 Sz 95 A 5l asgazmo p ) iz

e (F VWA (Y A (Y ¥ ()

ol Caw y0b (S 58I (ylae bglas L alasl 5o 25 glaady 35 51 Syplas -1 1Y
!yl (59 S Gl 8311 bl yili (9 5SIL e bglas o515 1 58 ()
D00 3,y Cudo 1)L 4 g o0 7, ke o)L I (S ST o bglas (Y
D335 o0 (S Sl oo b G ladkd Lad l alali a1 (Y
ol g o 53 3 ol ol 5l 5908 (Ko S s by el (K S Gl 10 5 calas 50 (F

fop3 o0 LA (g yd &1 bl y ey S0 (595 1) (K9 yI1 5L g 435 plas’ AN Y

44
s AN TS,
++ ++ +H + + + g +
ot ++ + + + +
(¥ (v Tt | (X ¥ + O
T 1:—+ =
++ et ++++
\%
Sl 15 SIS 1 plas Jolao — (61K —11 Y
m
J N
Ce J.m (¥ — & == ()
C C

forum.konkur.in



www.konkur.in

s g amo 0 ol ) W U 5L 595 (K0 58U Gl oS el E colis, S plase g BN 50 [y cudo )L ST -V F
famsl oo 4y 5 ISl AUR b il 5l (50 591 Jonsiliy (655
AUE < . WE <o (¥ AUg > . W >e (
AUg <¢ . W > (f AUER >+ . Wg <o (¥
= O9S sheo wiz 0 )5 (ol b 30 (K ST 5k (Al (I (s 515 VEIML glad 4 g3 sloyS (53, 1) ST 5L FUC ST 110
(T =Y) fcnl 250500

Y (F Yxye T (¢ & (Y axVe ' (1

Sl S 90 15 S0 55 S 0 g0 L85 LD slagls 5 1 o5 50 g bglad 5 U 115
) g SO 5 2y g2 S (530 35101 29 oy A A f st S 10
p ohise by s g IS5 53 g3 Saogs spb 4y aad oy A B ) iio b ST (¥
/ S g 5 5 )
-—"'—_-e/_-
‘ 055 4813 Sy a8 S S il o 4339 0y A B 51 st S 51 Y
= o ign SIS T Ko S ol 55105 oy A i 1 i b 51 (F

JOL (55138 3 g e o0 5153 10 Sl Amdio 90 o Gsle sl (59, 1) (S JSB (S99 Ul ) punsr ) JS& Gallae -VNY
FosS Jhntlls msomily € g B AT, 25 Jailsy 4ig 38 s108 S g 351
B VAa>Vg >V O
Ve >V >V,u (f
Vy=Vp=Vc

VB=VC>VA (f

+++ +++

@l 4L

o L 1y amr 9 ol 0 (13291 5 (9 3 Blas ) (slasimwgy s 1 @ale  loms y bauwgi (5310,1 (538 AalS (0§ JS allae —1 1A
Dg (o0 ne 9 e 7 & el Sl o ey lglS g iy Hb W)z (0l )OS o0 ke S0 0S0 & Lle,
Fegtq (O
—(q ¢ +q (¥

@ +q g 500 (¥

oy —q (F

S5 el ol 35 5159 g0 Jiie B e ay Yo V (0 501 Jowiliy & A i 51 @ = +HYMC gl (S 5005k ~114
sl g iz B Ak (oK 55 Jomiliy iy halS YoM o 5t 5 51 ity
—Yo (F Yo (¥ —Yo (Y VYo (O
(izr (555183131 g ol Oy A Al I e bglas e IS )3 9 CS Sy (S Sl line K 0 —FMC S s L L sleyd Y-

00wl cdgusa (VB — VA ) il (S 55Ul 5955 05 32359 g0 (5908 ki S5T.055 ooy o/ Y B i &y (yamn, G100

(OB 05 S s
+Yo (Y +be ()
—Yo (F —be (Y

forum.konkur.in



www.konkur.in

vt OHC b JWl gy o251 g9 Lawsi oo planil U5 3511 .Ccanl YDV U pilyy alais 98 oy (o5 355 iy M1 33051 —1 ¥y
fowl Jojckm sz ol g L alaii 90 oy
\Y/b (Y VYoo (0
VYO (F V/ YO (v

ol odilo (Blro (ilouds oy \°fv Joniliy O 4 a5 ACI Alold L axis 90 (yw (sbad 10 €9, 0,hd SO ¢ 5 JSCo Bollo -\YY

i m -
(e=\/#xVe NCyg=1o ) e 030 e b (ol A\« Vet g Bikab e o8
S
ROWI PO ()
T Sl 0010 Cawss 3 F (Y
l el 0010 Caws 31 D (F

cis3o ABCD simuin o33 56555 £5pb A A 3t K i bRl . y5 : ( = —YHC clalaii b 5 S5 Gillan =Y ¥¥

i Jg5 e Wiy (8 > £9d Aalli 4 S ()] (SO SN il (6550 D Wil 4y o (o y o 58 9 S8 o ol (b 50 WS (0

CUaS o
R +e /3 O
A“ - > AR\
= Y“m‘v‘cm\fcéz Y
— +17F (f
E=Y %

oS Gl (Fy3 109000 00 A Al 4y Lxil 519 B ki 4 laisl YoV (S5 sl Janiliy b C i 51 q 0 5 JS5 50 -1 YF

— — N
(BC=Yecm, AB=Yocm) fculcdynin A dais (S 5l Sy wl fooE By

> Yo (A

Ae—<ere B : Fo (Y

g Ao (Y
L

C Voo (f

forum.konkur.in



www.konkur.in

vt Sty S 831051 cd g0 5L 1y ki) 51y5 ob 31 (5 ykn siilur Yo Aol o a5 B g A il sUluy drieo 90 o) JSbb -1 YO

m =
.ﬁ,.._.Sul_.,.'}Il_m.,,, pslssthul) )o‘AaaLaubjgl:.ujh\—‘sﬂ Ll Y“]JC)U'Q Y°°g'a)? Qslc):);l.c.un' \°TV l.bo‘

S
m
(g=\- Y 9005 A po lad Cunglio 1) Saw! Caw jo 4l 35 plus’
S
B: Oga:a‘fuﬂ,..n Bw)lsﬂwu\"“‘ab)éo)é(\
=
\-fv' E,l, ,m If-cm g oo ABgio B Axmis j (5 0 Sl B Aol j3 0,3 (Y
+ ! S
m
A ...\.J.Y‘soé)gé)g BWL?"/O?‘SML;c)S(Y'

m :
.M@J)?ﬁBWQ°/YA—‘SMQo)J(f
S

—_— N
s il AB=Y.cm S1ogd o basl> Bu A&ngjl \DYE‘;J}!‘H“"&' 9 Sl Glase SO 50 5l05L (gleyd -\ YE

iy wilgs ges @iy 35 ploS’ s s (VB = VA ) B s Al 95 o Josily
Yoo (Y o ()

—Ydo (F =\ (¥

i3 (Mg eyt 331050 S g LA < K o SR | o fa S S il oy S —1 Y'Y

(! VM b ol g LSS jglomo @3l b 5 31 (puzr as 93 Alold) Foawl 4y 35 plus’ Gollao of < 9 ST slausly

A R A Nese (4
o m--.
>
by o "< bl
\ch / “nao (Y’
W VeoofY (¥
A A

S 83101 it Wi 5K 5,5 5l 531 kil 55503 it ¥ BT 31 oSt gl 51 ol il o8 L Uy 555 99 54 b JIS2 —1 YA

Sl S )39 8,5

A (f

forum.konkur.in



www.konkur.in

\'%A -
2t (7) 075 35 @5 Comnd Al Gl BT (2l b Sz 45 05 0015 ' 3 G 5ol s1aisT & Ly 5,5 95 4 )51 -1 ¥4
(el V0410 @ jbas glo,S wxe 9 V 0,10 5L &5 5lo,5 pone) S
i
Ayr a
q
Y
q.c
(—,)Y 41
q

3 Yo )
e tat i A&y S o JBs 4l gl el plp By A plien jlo)l ile) glae 5 5k (o B 5SS p0 1Y

ceee 23l 00d B3y b e

A
B

g Jie B 3,5 ay AS,S adgl )b aw,o Vo O

gl S B 55 a As,S adyl jbawo,o YO (Y

g Jiie B 3,5 4 A 5,5 &gl 5L cias (F

sl gele Sgd Jie A5, a B,s adgl )b ciai (F

§ ool syl g 35 ol ©jlee =1 ¥
05 Ay e S g (g o0 15D 5 (e o Sl wle (S SLLE ped 51 ()
WS (0 S s STy 30 395 5y b B b ekl S S g 0 Jodono b STy 50 o2l 3B (Y
el 48 0 &1 (4940 S 3 59y S g1l sl plaLS i eoliiwl (Y
Sl 5565 538 ple 3l (E (ruie gLl s (F
v 3 N Sy ST S (g )0 003 SRl e )50 50 w0 ) sA 3 ded -\ Y'Y
il AL Wilgh e Wrousa s STy (1
D gd planil Jol5' gb 4 Sl (8o (513 (¥
bl HUaI S yg0 yladie I pbun 93155 Lawgs oaid (g poluil ladis (Y
Dg plawil (6,50 AnlgS b sla fusTly (F
focmd G 30 g 3 dllao 10190 plus -\ VY
D oo ool yaloly balas old (S 5l o i Wi lyd 50 s algi Llde bl 1 (I
255 ooliiasl (Ll 55 50,8 S5 olge & olg o0 T K55 50 S92rge duST 51 (00
ol @abio ol ooliiwl pas Judo () 2153 &) Comnd (weildl S 10 99250 (538 SLisS pios clils (o
bty 30 oo (3l 51 (5310 0 ke yg0 Gl 30 Wl (S jlodo (3 S yire S 31 (55100 e oLl slaaks 3p Lt ST (o
el Hlly A

€y g €O (¥ €L g «O» \s «o g « A (Y «o» g «ad» (A

forum.konkur.in



www.konkur.in

Ao 3 il il L (B oy Ly ol CAO e (@l U Ol S (5o ol (le )8 d 5o 5150 51 -\ YF
(NS 05 &S i iSTg yo b B B)(Ca=Fe , C=1Y,0=\5: g.mol_‘) Sl plas b ol oo yiiay CaCOy pols
CaCOy(s) > CaO(s) + COy(g)
vy (v rY QO
¥ (F aY (¥
g i (D) o 05 YTAY 09 ais il sl S i (U ylio 30 0,5 YIY 2 ) (qamnn 45 S ST 5 sl STy Gubo -1 YO
Sl L oy LS pmid a1y 51l (3 cnl o o addgi NO 5B g conl juiiz GiiSTy (g0 ;0 003k sl g0 cawd
oo x>« N=VF, 0 =\¢ ,Cu=?\°:g.mol_‘ ilgt G & Conly oy 4 1) ey 39) ST o cews & NOy 518
(09 &jlg0 i )90 50 W STy Wolae )(camwl Jgo 2 yiad YO pl Glalojl dal oo 50 Lajl8
Cu(s)+ HNOy (aq) = Cu(NOy )y (aq) + NO(g) + HyO(I)
NOy(g) + Oy (g) - NO(g) + Oy (g)
\Y/b - Fo (¥ o /YD - Yo (0
Y /YO - Fo (F \Y/b - Yo (¥
Comrd Ay 3 lolinl oyl 50 ST 63 (3,5 5 i FIFA S S i b« @56 (KCIOy ) @l ls ki 0,5 13/5 iaSTg 3 -\ Y
(K=v4,0=1%, CI=YA/0:8.M01"") Scuul plaS b sl s sy A8 pamaliy gl duoyd o g0
KCIOy + CyyHyyOyy &> KCl1+ COy + HYO  (og &ijlgn iisTg)
AD ()
o (¥
ASIY (¥
AYIY (F
003l o 41 el 1 i 5 Ay ool o0 ddgi (BT o YYF oo oo,8 (S jladio b duST (TID) o o5 £ o jlaio asTy 51 VYV
12905 i (155 50 ST ol 0,538’ Wi b1 STy (01 53 0ud wlgi COy g sl plas ST soo
(Fe&pf ACRA =Y., 0=\¢,C=\Y :g.mol_‘)
YFe, Oy (5) + ¥ C(s)—2—> FFe(s) + *COy (g)
CaO(s)+ COy(g) = CaCOy(s)

8/oFx1o® _Ao (v v/avxye® _va o
Y/0Yx\ve® _Ae (F 8/o¥x\o® _va (v
iy (1) s Joloxe (1 5lain b 1y (2,5 35 oo b oo Fo ol b Fey Oy o8 VYFo STy §f ool ol 315,81 -1 ¥A
) 900 oyl 1y ped STy 003l g woyo Vo il 1y Jol (AiSTy 035b) Sogi o0 wudgi CU ol i 5 43 o ST
(Cu=#sf, Fe=0fF, S=YY,0=\¢ ,C=\Y:g.mol_‘) (g s
v/vaxye'" (v £/a%\o" (1

Y/vaxye ¥ (f a/vaxye Ty

forum.konkur.in



www.konkur.in

PO Ly 35 aalS pls wuo 3 ilo g0 (b STy 31 33 dolsr )5 Yo/ Y8 (Bl Sliy S mandS 0,8 Yo JolS & 3005 1 -\ ¥4
(Ca=%+,0=\7, C=\Y:g.mol_\) Sl
CaCOy (S)A)CaO(s) +COy(g)
Yo (¥ Yo (A
Ao (F 7O (Y
e A A 00l dlgi ST el 090 0 42 3 5 STy Gallan VD (i 42 Doyly 150 T80 (pgls b Ly S padS 0,5 Fo AF

(Ca=f., 0=\?,C=W:g.mol_\f..\.;sla‘;a U 00950 Cawd b allBU) Tl 0 Joll [ exilo SU vl 51 20,2 duo )0 Wi

CaCOy (s) > CaO(s) + COy(g)
Yo (¥ 80

Yo (f Yo (v
3 oms B5B (99 Slge 2 g 4525 3k 50 (B 50 ¢ Bl dijlge STy illae wuoyd Ae (pals b il yid muiliy 0,8 Fo/F ST -AFA

(O=18,N=1f, K=va:g.mol ™" il o 5l 00 )55 cansd STy (521 30 B pallib) Samsl o5 i by oy s2S Ty el

KNOy () —>2""C , K, 0(s) + Ny (g) + Oy (2)
FA/FS (Y Ya/AY ()
YEISA (F /T (¥
P iy bl o0 VO STy k00 003 45 (g0 10 e yd As (pals b bl e Kiw 0,5 Yo 5l ol 58 gl Rl jo -1 FY
(O=\#,Fe=07: g.mol_\ ) $39u 0 dulgi oyil
Na+FeyOy = NayO + Fe (05 &ijlge (iSTy Aoleo)
AI¥ (Y /4 (1

WY (F AEARAS

forum.konkur.in



www.konkur.in

Failcaw)o oul sols IS 8,b50 p) slaw,le jl0)90 2> -V FY

S (0SS (s § sladigS Lad> 41 5 a0 GBS 1) w50 (2,5 SLd, Y il (Al
sl ol yot (55 51 300 b g ol s Ygamo X gl (2350 (0

Sl 98 (S| g (Z 0yl 8 ool (gl p3Y b o LS (o

] e S JK 41 b 4y 38 S 5L Soal e X il plail Soal (w
Y V()

¥ (F Y
! oy ol 4y 35 plos’ —\FF
Dgd o0 i B A ime St I (08 W y3 L 3 il 5o ()
Bis yrno 33 45 (glarals &) (5 508 ol Lo (gl )13 ) il (San 5ldo (0 3508 c(yhne Sy 31 (5510 0 4 SLBy 3 £ gomo ST (Y
A o B ) Lo o S § 510y 9 WS 0 919 el S ) danmo
] ol s garlasl o 90 LBYTLS 3 Sgo 31 (53 Comnt At 5151 aulal 53Lo g (55 3l (yaali puaio (Y
P o (el 30 oLy sl il (are S JS0 &) Copb & 15 CllS b SCaT 150zl il § & pas SCaf (F
gl (5 (D guntio
S oo JooST ()0 o Sl Sl @) p) sloole JIB sl 4l 35 plas -1 FD
g o ool ddis b lwg 30 S guw (ylgie Ay Sgub 0 0uieS g gy i gdolx jl a5 S 5l wuo o Ll Sgue (I
Dl (50 eee GBI s (] 55 alo 1 g L3l il 5L (o
S8 g0 JuSUt oo Uy o B hchs a5 Canl o loand s 53 3130 31 Sloaloie pls i (i
0P LS Slo(n,Sg)0ud 3l Hlauly dewgi (Be (1
o155 1l GhaleF o) o (¥
0P LS SBn 9,00 (Sl b Casp Do (¥
OS5 S Hlwly dawgi Ao (F

forum.konkur.in



www.konkur.in

S G yd 4 35 olas @yl -\ FF
el & Jolo (gloged b S5 ol Bld pole S5 &y o5 i ()
ol 5d 190 Jolao pls Cuis a5y 5 (Y
Syl n b pan Lo i 3590 (Ko U (5551 g oy (aoli (5l oukd gl piasl B i olie ] ks (Y
g o0 (§ iy (a3 SIS (i) (I asly ol 36 Ao 51 L3S 3L (F
foamwl Cawyd py slaele 310,90 Wiz -\ FY
g g0 0Ll adils Jrlwg 30 S g lgae & ki @alio 31 o Sgu (I
sl 0335yl KaS (395055 g slom oy sl 030 Slag,lo colu 4 ol C gli2l Glb S 9 LSle co bl (o
D9 o0 (2 laounliog yis Olge Lt b B o ol i I (Sl i 090! (&
239550 3 4 Lo 55 990 (S0 I (5551 9 LoyS ool (512 Lo 50 (B e plS S oy 00 Sgu (&
F(f Yy Y Y
o] )0l 35 soais 35 51 Sy plas” -\ FA
el (29l5 Jguar 093 8,98 91F 09,5 51 (538 pls ki il Lol paie ()
gt gn B i y0 o e sl 1 XVYRY ' 31 g wilja (F
ol o355l Fo oW gd &iljg ) &l puw Wilowny (Y
35510 (39 I LSy Slaes yY 25 Gt S il (g 155U a1 5o (F
e 3 A O o )S ) gy 35 Ao ol -1 FA
sl (5551 (ol cpl i i (9 5 ol 33 301 0
el gl asilow (53900 JoSdg0 50 Lign cnl jlods b il g0 50 (mi¥lgeS slodign Lo (Y
il g0 S (5585 e I Gl & ¢Sl Nigy S b Wy 5 9y 1 50 S (Y
09y 31 & Al blug )0 LS g plgie @ plo i Ay grlee Fo I ln 3gao 4l (F
C ] Cawyo ay 35 plas -\ 0«
g Sl (beaia GiulyT 4 g b g 4dliS Sl 4 1500 Glapil b 1) (b eysmSIl plad wilgi o0 05 31 ()
ol adedin jui STl soabgn Hloid oS 3lad Joo S 1 aleo — alalf oo 4o (Y
ol 03255 SO Elgil 51 g0L 5 Hlod ol (bgliue pls i (Y
Sl VYO b gl ailow (339008 50 Guigml slayg il b Hlods 1 ol 50 (Guign (b9 Sl it Lol o (F

forum.konkur.in



